
#373522 X1 FULLY INDEPENDENT REAR WING MOUNT (SET) #373522 X1 FULLY INDEPENDENT REAR WING MOUNT (SET)

3x6x4mm 3x6x4mm

3x6x4mm 3x6x4mm
3x12mm 3x12mm

3x12mm 3x12mm

3x6mm 3x6mm

3x6mm 3x6mm

3x6mm 3x6mm

#296530-O	 ALU NUT M3 - ORANGE (10)
#303127-K	 ALU SHIM 3x6x4.0MM - BLACK (10)
#306200-O	 ALU SERVO MOUNT - ORANGE (2)
#902306	 HEX SCREW SH M3x6 (10)
#903314	 HEX SCREW SFH M3x14 (10)

#296530-O	 ALU NUT M3 - ORANGE (10)
#303127-K	 ALU SHIM 3x6x4.0MM - BLACK (10)
#306200-O	 ALU SERVO MOUNT - ORANGE (2)
#902306	 HEX SCREW SH M3x6 (10)
#903314	 HEX SCREW SFH M3x14 (10)

Follow the instruction manual 
X1'19 page 16/ step 1 for 
screw setting

Follow the instruction manual 
X1'19 page 16/ step 1 for 
screw setting

This wing mount set allows to install rear wing fully independently from the rear pod plate. 
When the rear suspension is moving the wing stays in the same position which helps to improve 
car stability and increases traction, making the car easier to drive in all conditions. The wing 
mount plate features holes for wing mounting in exactly the same positions as the standard 
wing mount. Can be used either with the rear gear differential or ball differential. 

This wing mount set allows to install rear wing fully independently from the rear pod plate. 
When the rear suspension is moving the wing stays in the same position which helps to improve 
car stability and increases traction, making the car easier to drive in all conditions. The wing 
mount plate features holes for wing mounting in exactly the same positions as the standard 
wing mount. Can be used either with the rear gear differential or ball differential. 

373522 373522

306200-O 306200-O373522 373522

373522 373522

296530-O 296530-O

902306 902306
373522 373522

902306 902306903314 903314

303127-K 303127-K



If you have any questions, please do not hesitate to contact XRAY at info@teamxray.com or visit our website at 
www.teamxray.com for news and updates.

If you have any questions, please do not hesitate to contact XRAY at info@teamxray.com or visit our website at 
www.teamxray.com for news and updates.

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

3x6mm3x6mm

NOTE
ORIENTATION

NOTE
ORIENTATION


